Give the exact value ofsin (77%] ?

a. 0 b. 1
e. none of these



Determine the quadrant in which the terminal side of an angle of o7 lies.

5
a. | b. I C. d IV

e. terminal side lies on one of the axes




Determine the quadrant in which € lies: sin@ <0 and cosé >0
a. [ b. I c. I d. IV e none of these



Given cos @ = —g andcscd > 0, find siné and tan @

] NE) ]

a. sinfd=—, tant = — b. sinf=—, tanf =-

V3
3 3
& d. sin6’=—l_., tan6’=£
3 2 3

c. sinfd=1, tanf =



Find the value of cot(ws1 (

a. —\/g b. l

2

3

2

3

C.

NE)
2

w | S5



Find the value of sin™ (— ?]

a.s—;r b. 2£
6 3



Given pomts P = (—5, — 2) and Q = (— 1, 5) , find the vector vrepresented by the directed line
segment PQ , then find its magnitude.

v={6, -3) v={-4, -7)
TN B

(4.7) L)
V65 V=3

A%

"M



Tet v= <4, 2> and w = <9_., 5) , find the dot product of the two vectors
a. 26 b. 46 c. —37 d 53



Which of the following pairs of vectors are orthogonal?
a. v=4i-2j, w=2i—-4j b. v=3i+j,w=9+3j
C. v=i—j,w=i d v==2i+j,w=i+2j C. none of these



d.

2.

If f(x)==x,find

2 b.

none of these

f(x+h)-f(x)

h

o | —

,h=0

x+—h

h
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: : . 7
A right triangle has an acute angle & such thatsin 8 = 5 find tan @

N2 2
a. — b. ——
8 7
130 0+/130
c. —— d. e. none of these

7 130
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